Contracts and Procurement

Bid Tabulation RFB # 3518

Bulk Oil for Fleet Maintenance

Buyer : Marco Lozano

Arnold	Oil -	Corpus	Christi,	TX.
--------	-------	--------	----------	-----

Item	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
1	Hydraulic Oil (AW-46) (Bulk) or Compatible	Gal	7,000		\$5.82		\$ 40,740.00
	Taxes /Fees					=	Total Fees
2	Tax	Gal	7,000	Χ		=	\$0.00
	Freight	EA				1	\$0.00
-	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
5	Environmental Fee	GAL	7,000	Χ		=	\$0.00
	Total						\$ 40,740.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
6	CK-4 Synthetic Blend (15W-40) (Bulk) or Compatible	Gal	6,000		\$8.04		\$ 48,240.00
	Taxes /Fees					=	Total Fees
7	Tax	Gal	6,000	Χ		=	\$0.00
8	Freight	EA					\$0.00
9	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
10	Environmental Fee	GAL	6,000	Χ		=	\$0.00
	Total						\$ 48,240.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
11	Delo 400 T3NG (15W-40) (Bulk) or compatible	Gal	2,000		\$11.90		\$ 23,800.00
	Taxes /Fees					=	Total Fees
12	Tax	Gal	2,000	Χ		=	\$0.00
	Freight	EA					\$0.00
-	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
15	Environmental Fee	GAL	2,000	Χ		=	\$0.00
	Total						\$ 23,800.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
16	Global Full Synthetic ATF (Bulk) Or Compatible	Gal	3,000		\$10.37		\$ 31,110.00
	Taxes /Fees					=	Total Fees
17	Tax	Gal	3,000	Χ		=	\$0.00
18	Freight	EA					\$0.00

19	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
20	Environmental Fee	GAL	3,000	Χ		=	\$0.00
	Total						\$ 31,110.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
21	Gear Lube (75W-90) Full Synthetic	Drum	20		\$328.32		\$ 6,566.40
	Taxes /Fees					=	Total Fees
22	Tax	Drum	20	Χ		=	\$0.00
23	Freight	EA					\$0.00
24	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
25	Environmental Fee	GAL	20	Χ		=	\$0.00
	Total						\$ 6,566.40
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
26	Purus Alletor HD Red EP#2 Grease	Drum	20		\$920.50		\$ 18,410.00
	- /-						
	Taxes /Fees					=	Total Fees
27	Tax	Drum	20	Χ		=	lotal Fees \$0.00
27 28		Drum EA	20	Χ			
	Тах		20	X			\$0.00
28	Tax Freight	EA	20			=	\$0.00 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total	EA USD		Χ		=	\$0.00 \$0.00 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total Environmental Fee	EA USD		Χ	Unit Price	=	\$0.00 \$0.00 \$0.00 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total	EA USD Drum	20 Estimated One	Χ	Unit Price \$6.98	=	\$0.00 \$0.00 \$0.00 \$0.00 \$18,410.00
28 29 30	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil	EA USD Drum Unit	20 Estimated One Year QTY	Χ		=	\$0.00 \$0.00 \$0.00 \$0.00 \$ 18,410.00 Price Total
28 29 30	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible	EA USD Drum Unit	20 Estimated One Year QTY	Χ		= =	\$0.00 \$0.00 \$0.00 \$0.00 \$ 18,410.00 Price Total \$ 20,940.00
28 29 30 31	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees	EA USD Drum Unit	Estimated One Year QTY 3,000	X X		= =	\$0.00 \$0.00 \$0.00 \$0.00 \$ 18,410.00 Price Total \$ 20,940.00 Total Fees
28 29 30 31 32 33 34	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight Fuel Surcharge on Price Total	EA USD Drum Unit Gal Gal	20 Estimated One Year QTY 3,000	XXX		= =	\$0.00 \$0.00 \$0.00 \$0.00 \$ 18,410.00 Price Total \$ 20,940.00 Total Fees \$0.00
28 29 30 31 31 32 33	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight	EA USD Drum Unit Gal Gal EA	Estimated One Year QTY 3,000	XXX		= = =	\$0.00 \$0.00 \$0.00 \$0.00 \$ 18,410.00 Price Total \$ 20,940.00 Total Fees \$0.00 \$0.00
28 29 30 31 32 33 34	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight Fuel Surcharge on Price Total	Unit Gal Gal EA USD	20 Estimated One Year QTY 3,000	XXX		= = = =	\$0.00 \$0.00 \$0.00 \$0.00 \$ 18,410.00 Price Total \$ 20,940.00 Total Fees \$0.00 \$0.00 \$0.00

Contracts and Procurement Buyer: Marco Lozano

Bid Tabulation RFB # 3518

Bulk Oil for Fleet Maintenance

Pilot Thomas Lo	gistics - Fort Worth, TX.
-----------------	---------------------------

Item	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
1	Hydraulic Oil (AW-46) (Bulk) or Compatible	Gal	7,000		\$4.74		\$ 33,180.00
	Taxes /Fees					=	Total Fees
2	Tax	Gal	7,000	Χ	\$0.08	=	\$577.50
3	Freight	EA					\$0.00
4	Fuel Surcharge on Price Total	USD	33180	Χ	\$0.01	=	\$280.00
5	Environmental Fee	GAL	7,000	Χ		=	\$0.00
	Total						\$ 34,037.50
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
6	CK-4 Synthetic Blend (15W-40) (Bulk) or Compatible	Gal	6,000		\$6.01		\$ 36,060.00
	Taxes /Fees					=	Total Fees
7	Tax	Gal	6,000	Χ	\$0.08	=	\$495.00
8	Freight	EA					\$0.00
9	Fuel Surcharge on Price Total	USD		Χ		=	\$240.00
10	Environmental Fee	GAL	6,000	Χ		=	\$0.00
	Total						\$ 36,795.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
11	Delo 400 T3NG (15W-40) (Bulk) or compatible	Gal	2,000		\$9.04		\$ 18,080.00
	Taxes /Fees					=	Total Fees
12	Tax	Gal	2,000	Χ	\$0.08	=	\$165.00
13	Freight	EA					\$0.00
14	Fuel Surcharge on Price Total	USD		Χ		=	\$80.00
15	Environmental Fee	GAL	2,000	Χ		=	\$0.00
	Total						\$ 18,325.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
16	Global Full Synthetic ATF (Bulk) Or Compatible	Gal	3,000		\$16.22		\$ 48,660.00
	Taxes /Fees					=	Total Fees
	Tax	Gal	3,000	Χ	\$0.08	=	\$247.50
17	ιαλ	Gai	3,000	/\	\$0.00		ΨZ 17.00

19	Fuel Surcharge on Price Total	USD]	Χ		=	\$120.00
20	Environmental Fee	GAL	3,000	Χ		=	\$0.00
	Total						\$ 49,027.50
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
21	Gear Lube (75W-90) Full Synthetic	Drum	20		\$1,020.25		\$ 20,405.00
	Taxes /Fees					=	Total Fees
22	Tax	Drum	20	Χ		=	\$91.58
23	Freight	EA				•	\$0.00
24	Fuel Surcharge on Price Total	USD		Χ		=	\$44.40
25	Environmental Fee	GAL	20	Χ		=	\$0.00
	Total						\$ 20,540.98
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
26	Purus Alletor HD Red EP#2 Grease	Drum	20		\$812.90		\$ 16,258.00
	- /-						
	Taxes /Fees					=	Total Fees
27	Tax	Drum	20	Χ	\$0.08	=	Total Fees \$91.58
27 28		Drum EA	20	X	\$0.08		
	Тах		20	X	\$0.08		\$91.58
28	Tax Freight	EA	20		\$0.08	=	\$91.58 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total	EA USD		Χ	\$0.08	=	\$91.58 \$0.00 \$44.40
28 29	Tax Freight Fuel Surcharge on Price Total Environmental Fee	EA USD		Χ	\$0.08 Unit Price	=	\$91.58 \$0.00 \$44.40 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total	EA USD Drum	20 Estimated One	Χ		=	\$91.58 \$0.00 \$44.40 \$0.00 \$ 16,393.98
28 29 30	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil	EA USD Drum Unit	20 Estimated One Year QTY	Χ	Unit Price	=	\$91.58 \$0.00 \$44.40 \$0.00 \$ 16,393.98 Price Total
28 29 30	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible	EA USD Drum Unit	20 Estimated One Year QTY	Χ	Unit Price	= = =	\$91.58 \$0.00 \$44.40 \$0.00 \$ 16,393.98 Price Total \$ 21,090.00
28 29 30 31	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees	EA USD Drum Unit	20 Estimated One Year QTY 3,000	X X	Unit Price \$7.03	= =	\$91.58 \$0.00 \$44.40 \$0.00 \$ 16,393.98 Price Total \$ 21,090.00 Total Fees \$247.50 \$0.00
28 29 30 31 32 33 34	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight Fuel Surcharge on Price Total	EA USD Drum Unit Gal Gal	20 Estimated One Year QTY 3,000	XXX	Unit Price \$7.03	= =	\$91.58 \$0.00 \$44.40 \$0.00 \$ 16,393.98 Price Total \$ 21,090.00 Total Fees \$247.50
28 29 30 31 31 32 33	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight	EA USD Drum Unit Gal Gal EA	20 Estimated One Year QTY 3,000	XXX	Unit Price \$7.03	= = = =	\$91.58 \$0.00 \$44.40 \$0.00 \$ 16,393.98 Price Total \$ 21,090.00 Total Fees \$247.50 \$0.00
28 29 30 31 32 33 34	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight Fuel Surcharge on Price Total	Unit Gal Gal EA USD	20 Estimated One Year QTY 3,000	XXX	Unit Price \$7.03	= = = =	\$91.58 \$0.00 \$44.40 \$0.00 \$ 16,393.98 Price Total \$ 21,090.00 Total Fees \$247.50 \$0.00 \$120.00

Contracts and Procurement

Bid Tabulation

RFB # 3518 **Buyer: Marco Lozano Bulk Oil for Fleet Maintenance**

Tayon	Enternrises.	Inc. Cornus	abriati TV
iexas	Enterprises	Inc - Corpus	Christi, IX.

		·	• ,				
Item	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
1	Hydraulic Oil (AW-46) (Bulk) or Compatible	Gal	7,000		\$ 7.63		\$ 53,410.00
	Taxes /Fees					=	Total Fees
2	Tax	Gal	7,000	Χ		=	\$0.00
3	Freight	EA					\$0.00
4	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
5	Environmental Fee	GAL	7,000	Χ		=	\$0.00
	Total						\$ 53,410.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
6	CK-4 Synthetic Blend (15W-40) (Bulk) or Compatible	Gal	6,000		12.54		\$ 75,240.00
	Taxes /Fees					=	Total Fees
7	Tax	Gal	6,000	Χ		=	\$0.00
8	Freight	EA					\$0.00
9	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
10	Environmental Fee	GAL	6,000	Χ		=	\$0.00
	Total						\$ 75,240.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
11	Delo 400 T3NG (15W-40) (Bulk) or compatible	Gal	2,000		10.19		\$ 20,380.00
	Taxes /Fees					=	Total Fees
12	Tax	Gal	2,000	Χ		=	\$0.00
13	Freight	EA					\$0.00
14	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
15	Environmental Fee	GAL	2,000	Χ		=	\$0.00
	Total						\$ 20,380.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
16	Global Full Synthetic ATF (Bulk) Or Compatible	Gal	3,000		10.05		\$ 30,150.00
	Taxes /Fees					=	Total Fees
17	Tax	Gal	3,000	Χ		=	\$0.00
18	Freight	EA					\$0.00
·						_	

19	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
20	Environmental Fee	GAL	3,000	Χ		=	\$0.00
	Total						\$ 30,150.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
21	Gear Lube (75W-90) Full Synthetic	Drum	20		712.18		\$ 14,243.60
	Taxes /Fees					=	Total Fees
22	Тах	Drum	20	Χ		=	\$0.00
23	Freight	EA				_	\$0.00
24	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
25	Environmental Fee	GAL	20	Χ		=	\$0.00
	Total						\$ 14,243.60
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
26	Purus Alletor HD Red EP#2 Grease	Drum	20		807.4		\$ 16,148.00
	Taxes /Fees						Total Fees
	Taxes / rees					=	iolai rees
27	Tax	Drum	20	Χ		=	\$0.00
27 28		Drum EA	20	Χ			
	Тах		20	X			\$0.00
28	Tax Freight	EA	20			=	\$0.00 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total	EA USD		X		=	\$0.00 \$0.00 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total Environmental Fee	EA USD		X	Unit Price	=	\$0.00 \$0.00 \$0.00 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total	EA USD Drum	20 Estimated One	X	Unit Price	=	\$0.00 \$0.00 \$0.00 \$0.00 \$ 16,148.00
28 29 30	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil	EA USD Drum Unit	20 Estimated One Year QTY	X		=	\$0.00 \$0.00 \$0.00 \$0.00 \$ 16,148.00 Price Total
28 29 30	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible	EA USD Drum Unit	20 Estimated One Year QTY	X		= =	\$0.00 \$0.00 \$0.00 \$0.00 \$ 16,148.00 Price Total \$ 21,120.00
28 29 30 31	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees	EA USD Drum Unit Gal	Estimated One Year QTY	X X		= =	\$0.00 \$0.00 \$0.00 \$0.00 \$ 16,148.00 Price Total \$ 21,120.00 Total Fees
28 29 30 31 32	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax	EA USD Drum Unit Gal Gal	Estimated One Year QTY	X X		= =	\$0.00 \$0.00 \$0.00 \$0.00 \$ 16,148.00 Price Total \$ 21,120.00 Total Fees \$0.00
28 29 30 31 31 32 33	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight	EA USD Drum Unit Gal Gal EA	Estimated One Year QTY	XXX		= = =	\$0.00 \$0.00 \$0.00 \$0.00 \$ 16,148.00 Price Total \$ 21,120.00 Total Fees \$0.00 \$0.00
28 29 30 31 32 33 34	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight Fuel Surcharge on Price Total	Unit Gal Gal EA USD	20 Estimated One Year QTY 3,000	XXX		= = =	\$0.00 \$0.00 \$0.00 \$0.00 \$16,148.00 Price Total \$21,120.00 Total Fees \$0.00 \$0.00 \$0.00

Contracts and Procurement

Bid Tabulation

RFB # 3518

Buyer: Marco Lozano

Bulk Oil for Fleet Maintenance

	Mansfield C	il Company	of Gainsville - Gainsv	ille, C	SA.		
Item	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
1	Hydraulic Oil (AW-46) (Bulk) or Compatible	Gal	7,000		\$6.19		\$ 43,330.00
	Taxes /Fees					=	Total Fees
2	Тах	Gal	7,000	Χ		=	\$0.00
3	Freight	EA					\$0.00
4	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
5	Environmental Fee	GAL	7,000	Χ	\$0.00071	=	\$4.95
	Total						\$ 43,334.95
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
6	CK-4 Synthetic Blend (15W-40) (Bulk) or Compatible	Gal	6,000		\$9.55		\$ 57,300.00
	Taxes /Fees					=	Total Fees
7	Тах	Gal	6,000	Χ		=	\$0.00
8	Freight	EA					\$0.00
9	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
10	Environmental Fee	GAL	6,000	Χ	\$0.00083	=	\$4.95
	Total						\$ 57,304.95
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
11	Delo 400 T3NG (15W-40) (Bulk) or compatible	Gal	2,000		\$20.96		\$ 41,920.00
	Taxes /Fees					=	Total Fees
12	Tax	Gal	2,000	Χ		=	\$0.00
13	Freight	EA					\$0.00
14	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
15	Environmental Fee	GAL	2,000	Χ	\$0.00248	=	\$4.95
	Total						\$ 41,924.95
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
16	Global Full Synthetic ATF (Bulk) Or Compatible	Gal	3,000		\$9.04		\$ 27,120.00
	Taxes /Fees					=	Total Fees
17	Тах	Gal	3,000	Χ		=	\$0.00
18	Freight	EA					\$0.00
19	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00

20	Environmental Fee	GAL	3,000	Χ	\$0.00165	=		\$4.95
	Total						\$	27,124.95
	Description	Unit	Estimated One Year QTY		Unit Price		P	rice Total
21	Gear Lube (75W-90) Full Synthetic	Drum	20		\$1,441.55		\$	28,831.00
	Taxes /Fees					=		Total Fees
22	Tax	Drum	20	Χ		=		\$0.00
23	Freight	EA						\$0.00
24	Fuel Surcharge on Price Total	USD		Χ		=		\$0.00
25	Environmental Fee	GAL	20	Χ	\$0.24750	=		\$4.95
	Total						\$	28,835.95
	Description	Unit	Estimated One Year QTY		Unit Price		P	rice Total
26	Purus Alletor HD Red EP#2 Grease	Drum	20		\$1,190.41		\$	23,808.20
	Taxes /Fees					=		Total Fees
27	Tax	Drum	20	Χ		=		\$0.00
28	Freight	EA						\$0.00
29	Fuel Surcharge on Price Total	USD		Χ		=		\$0.00
30	Environmental Fee	Drum	20	Χ	\$0.24750	=		\$4.95
	Total						\$	23,813.15
	Description	Unit	Estimated One Year QTY		Unit Price		P	rice Total
31	Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible	Gal	3,000		\$5.46		\$	16,380.00
	Taxes /Fees					=		Total Fees
32	Тах	Gal	3,000	Χ		=		\$0.00
33	Freight	EA						\$0.00
34	Fuel Surcharge on Price Total	USD		Χ		=		\$0.00
35	Environmental Fee	GAL	3,000	Χ	\$0.00165	=		\$4.95
	Total						\$	16,384.95
	1 Year Grand Total						\$	238,723.85

Contracts and Procurement

Bid Tabulation RFB # 3518

Bulk Oil for Fleet Maintenance

Buyer: Marco Lozano

Sun Cooct	Docouroco	Ina Haus	ton TV
Sun Coast	Resources.	inc - Hous	ton. IX.

Suil Coast Resources, IIIC - Houston, TA.							
Item	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
1	Hydraulic Oil (AW-46) (Bulk) or Compatible	Gal	7,000		\$6.25		\$ 43,750.00
	Taxes /Fees					=	Total Fees
2	Тах	Gal	7,000	Χ		=	\$0.00
	Freight	EA					\$0.00
	Fuel Surcharge on Price Total	USD	43750	Χ	\$0.01	=	\$437.50
5	Environmental Fee	GAL	7,000	Χ		=	\$0.00
	Total						\$ 44,187.50
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
6	CK-4 Synthetic Blend (15W-40) (Bulk) or Compatible	Gal	6,000		\$8.75		\$ 52,500.00
	Taxes /Fees					=	Total Fees
7	Тах	Gal	6,000	Χ		=	\$0.00
	Freight	EA				<u> </u>	\$0.00
	Fuel Surcharge on Price Total	USD	52500	Χ	\$0.01	=	\$525.00
10	Environmental Fee	GAL	6,000	Χ		=	\$0.00
	Total						\$ 53,025.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
11	Delo 400 T3NG (15W-40) (Bulk) or compatible	Gal	2,000		\$19.57		\$ 39,140.00
	Taxes /Fees					=	Total Fees
12	Тах	Gal	2,000	Χ		=	\$0.00
	Freight	EA					\$0.00
-	Fuel Surcharge on Price Total	USD	39140		\$0.01	=	\$391.40
15	Environmental Fee	GAL	2,000	Χ		=	\$0.00
	Total						\$ 39,531.40
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
16	Global Full Synthetic ATF (Bulk) Or Compatible	Gal	3,000		\$11.67		\$ 35,010.00
	Taxes /Fees					=	Total Fees
17	Тах	Gal	3,000	Χ		=	\$0.00
18	Freight	EA					\$0.00

19	Fuel Surcharge on Price Total	USD	35010	Χ	\$0.01	=	\$350.10
20	Environmental Fee	GAL	3,000	Χ	\$0.04	=	\$120.00
	Total						\$ 35,480.10
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
21	Gear Lube (75W-90) Full Synthetic	Drum	20		\$1,831.50		\$ 36,630.00
	Taxes /Fees					=	Total Fees
22	Tax	Drum	20	Χ		=	\$0.00
23	Freight	EA					\$0.00
24	Fuel Surcharge on Price Total	USD	36630	_	\$0.01	=	\$366.30
25	Environmental Fee	GAL	20	Χ		=	\$0.00
	Total						\$ 36,996.30
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
26	Purus Alletor HD Red EP#2 Grease	Drum	20		\$2,552.00		\$ 51,040.00
	Taxes /Fees						Total Face
	laxes / rees					=	Total Fees
27	Taxes / Fees	Drum	20	Χ		=	\$0.00
27 28		Drum EA	20	Χ			
	Тах		20 51040		\$0.01		\$0.00
28	Tax Freight	EA			\$0.01	=	\$0.00 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total	EA USD	51040	Χ	\$0.01	=	\$0.00 \$0.00 \$510.40
28 29	Tax Freight Fuel Surcharge on Price Total Environmental Fee	EA USD	51040	Χ	\$0.01 Unit Price	=	\$0.00 \$0.00 \$510.40 \$0.00
28 29	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total	EA USD Drum	51040 20 Estimated One	Χ		=	\$0.00 \$0.00 \$510.40 \$0.00 \$ 51,550.40
28 29 30	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil	EA USD Drum Unit	51040 20 Estimated One Year QTY	Χ	Unit Price	=	\$0.00 \$0.00 \$510.40 \$0.00 \$ 51,550.40 Price Total
28 29 30	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible	EA USD Drum Unit	51040 20 Estimated One Year QTY	Χ	Unit Price	= =	\$0.00 \$0.00 \$510.40 \$0.00 \$ 51,550.40 Price Total \$ 21,870.00
28 29 30 31	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees	EA USD Drum Unit Gal	Estimated One Year QTY	X X	Unit Price	= =	\$0.00 \$0.00 \$510.40 \$0.00 \$ 51,550.40 Price Total \$ 21,870.00 Total Fees
28 29 30 31 32	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax	EA USD Drum Unit Gal Gal	Estimated One Year QTY	XXX	Unit Price	= =	\$0.00 \$0.00 \$510.40 \$0.00 \$ 51,550.40 Price Total \$ 21,870.00 Total Fees \$0.00
28 29 30 31 31 32 33	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight	EA USD Drum Unit Gal Gal EA	Estimated One Year QTY 3,000	XXX	Unit Price \$7.29	= = = =	\$0.00 \$0.00 \$510.40 \$0.00 \$ 51,550.40 Price Total \$ 21,870.00 Total Fees \$0.00 \$0.00
28 29 30 31 32 33 34	Tax Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight Fuel Surcharge on Price Total	Unit Gal Gal EA USD	51040 20 Estimated One Year QTY 3,000	XXX	Unit Price \$7.29	= = =	\$0.00 \$0.00 \$510.40 \$0.00 \$ 51,550.40 Price Total \$ 21,870.00 Total Fees \$0.00 \$0.00 \$218.70

Contracts and Procurement

Bid Tabulation

RFB # 3518

Buyer : Marco Lozano

Bulk Oil for Fleet Maintenance

Delta Fuel Company - Ferric	day,	LA.
-----------------------------	------	-----

Item	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
1	Hydraulic Oil (AW-46) (Bulk) or Compatible	Gal	7,000		\$8.33		\$ 58,310.00
	Taxes /Fees					=	Total Fees
2	Tax	Gal	7,000	Χ		=	\$0.00
3	Freight	EA					\$0.00
4	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
5	Environmental Fee	GAL	7,000	Χ		=	\$0.00
	Total						\$ 58,310.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
6	CK-4 Synthetic Blend (15W-40) (Bulk) or Compatible	Gal	6,000		\$13.88		\$ 83,280.00
	Taxes /Fees					=	Total Fees
7	Tax	Gal	6,000	Χ		=	\$0.00
8	Freight	EA					\$0.00
9	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
10	Environmental Fee	GAL	6,000	Χ		=	\$0.00
	Total						\$ 83,280.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
11	Delo 400 T3NG (15W-40) (Bulk) or compatible	Gal	2,000		\$8.90		\$ 17,800.00
	Taxes /Fees					=	Total Fees
12	Тах	Gal	2,000	Χ		=	\$0.00
13	Freight	EA					\$0.00
14	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
15	Environmental Fee	GAL	2,000	Χ		=	\$0.00
	Total						\$ 17,800.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
16	Global Full Synthetic ATF (Bulk) Or Compatible	Gal	3,000		\$22.04		\$ 66,120.00
	Taxes /Fees					=	Total Fees
17	Тах	Gal	3,000	Χ		=	\$0.00
18	Freight	EA					\$0.00

19	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
20	Environmental Fee	GAL	3,000	Χ		=	\$0.00
	Total						\$ 66,120.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
21	Gear Lube (75W-90) Full Synthetic	Drum	20		\$1,665.60		\$ 33,312.00
	Taxes /Fees					=	Total Fees
22	Tax	Drum	20	Χ		=	\$0.00
23	Freight	EA					\$0.00
24	Fuel Surcharge on Price Total	USD		Χ		=	\$0.00
25	Environmental Fee	GAL	20	Χ		=	\$0.00
	Total						\$ 33,312.00
	Description	Unit	Estimated One Year QTY		Unit Price		Price Total
26	Purus Alletor HD Red EP#2 Grease	Drum	20		\$1,080.00		\$ 21,600.00
	Taxes /Fees					=	Total Fees
							+ 0 00
27	Tax	Drum	20	Χ		=	\$0.00
27 28	Tax Freight	Drum EA	20	Χ		=	\$0.00 \$0.00
			20	X		=	
28	Freight	EA	20				\$0.00
28 29	Freight Fuel Surcharge on Price Total	EA USD		Х		=	\$0.00 \$0.00
28 29	Freight Fuel Surcharge on Price Total Environmental Fee	EA USD		Х	Unit Price	=	\$0.00 \$0.00 \$0.00
28 29	Freight Fuel Surcharge on Price Total Environmental Fee Total	EA USD Drum	20 Estimated One	Х	Unit Price \$9.72	=	\$0.00 \$0.00 \$0.00 \$ 21,600.00
28 29 30	Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil	EA USD Drum Unit	20 Estimated One Year QTY	Х		=	\$0.00 \$0.00 \$0.00 \$ 21,600.00 Price Total
28 29 30	Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible	EA USD Drum Unit	20 Estimated One Year QTY	Х		= =	\$0.00 \$0.00 \$0.00 \$ 21,600.00 Price Total \$ 29,160.00
28 29 30 31	Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees	EA USD Drum Unit	Estimated One Year QTY	X X		= =	\$0.00 \$0.00 \$0.00 \$ 21,600.00 Price Total \$ 29,160.00 Total Fees
28 29 30 31 32	Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax	EA USD Drum Unit Gal Gal	Estimated One Year QTY	X X		= =	\$0.00 \$0.00 \$0.00 \$ 21,600.00 Price Total \$ 29,160.00 Total Fees \$0.00
28 29 30 31 31 32 33	Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight	EA USD Drum Unit Gal Gal EA	Estimated One Year QTY	XXX		= = =	\$0.00 \$0.00 \$0.00 \$ 21,600.00 Price Total \$ 29,160.00 Total Fees \$0.00 \$0.00
28 29 30 31 32 33 34	Freight Fuel Surcharge on Price Total Environmental Fee Total Description Synthetic Blend (5W-20) Motor Oil (Bulk) or Compatible Taxes /Fees Tax Freight Fuel Surcharge on Price Total	Usd Drum Unit Gal Gal EA USD	20 Estimated One Year QTY 3,000	XXX		= = =	\$0.00 \$0.00 \$0.00 \$ 21,600.00 Price Total \$ 29,160.00 Total Fees \$0.00 \$0.00 \$0.00

	Company Name	Total
1	Arnold Oil	\$ 189,806.40
2	Pilot Thomas Logistics	\$ 196,577.45
3	Texas Enterprises	\$ 230,691.60
4	Mansfield Oil Company of Gainsville	\$ 238,723.85
5	Sun Coast Resources, Inc.	\$ 282,859.40
6	Delta Fuel Company	\$ 309,582.00